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Chapter 17

GOVERNMENT

Boiling Down Chapter 17

There may be a few anarchists left in the world, but most of them would likely be hesitant to try out their philosophy in the real world. One of the reasons for this is that some goods can be used by many simultaneously and they cannot be withheld from anyone if they are provided. These qualities of non-diminishability and non-excludability define a public good.

The optimal amount of a public good exists where demand equals supply, as is true in the case of private goods; however, in this case the demand for the good is the vertical summation of the individual demand curves. This makes sense because all consumers use the same good at the same time, and so their cumulative valuations tell how much worth a certain quantity of a good has. The marginal cost of producing the public good is the supply curve, and the point where the marginal cost just equals the demand curve will be the equilibrium quantity of the good in the long run, if the fixed costs of production are covered. Mosquito abatement spraying in a community is an example of this sort of good. 

Because the demand curve was summed from the individual demand curves, the price charged each consumer ideally would be the amount he would be willing to pay for the last unit he consumes of the good. This means that those with the greatest demand for the good should pay a higher proportion of its cost. In most cases the government must provide the good because the private sector, without the power to tax, will have a difficult time charging people for the good if they can get it free once someone else provides it. The rich demand more public goods than do the poor because public goods are frequently normal goods. Therefore, it is appropriate to tax them more than the poor. The tax system reflects, albeit imperfectly, the demands of the public for public goods.

It is common in our society to have public-type goods provided by the private sector  even though private entities have no power to tax or charge those who cannot be excluded from using the good. Voluntary donations sometimes work if people are strongly committed to a cause. Perhaps a person values a good enough to buy it for herself whether or not others pay for the benefits they receive from it. The fact that free riding occurs indicates that the good provided in these ways will be under-produced. The underproduction problem will be minimized if the social good has a by-product that can be sold also. Since a TV show has non-exclusion and nondiminishing characteristics, it is a public good in nature, but it also provides a captive audience, which is desired by advertisers who pay enough to offset the underpayments of the free-riding television viewers. Unfortunately, the number of viewers more than the total welfare of all viewers may often determine what is shown on TV and consequently the socially desirable mix of programming is not achieved. 

Sometimes technology can develop means of excluding non-payers, as is the case with cable TV. Sometimes contracts can specify certain participation in the provision of a public good. This is used by condominium groups that require each member to pay for property upkeep and beautification. The formation of clubs can provide joint access to goods that have very low marginal costs and therefore can wisely be owned by a group if members are willing to sacrifice some flexibility in using the good. Exclusion of non-members is usually possible in these arrangements, as is illustrated by neighborhood swimming pools, ladder and lawn mower co-ops, and various car-pooling arrangements.

Underlying any arrangement for the provision of a public good is the need for some group decision process that can work effectively. Majority voting has the disadvantage of having intransitivities whereby project A may get more votes than project B and B may get more votes than project C, but C will be favored over A if all votes are votes between only two issues at a time. The different ranking of the three projects that the voters have is the cause of this phenomenon. Manipulating the agenda is obviously all-important for controlling policy. If projects A, B, and C have numerical values and each voter picks the project closest to his preference, then the median voter always is on the winning side of the vote. If voters have a goal and rank all alternatives in order of their distance from the goal, the problem of intransitivity will not exist. In most cases this single-peaked ranking is the norm, although the case of Barry Goldwater's wanting to go all out to win the Vietnam war or else to get out is a case in which a moderate effort was favored less than no effort at all even though a strong effort was Goldwater’s first choice.

One serious problem with majority voting is that the intensity of one's feelings cannot be reflected in a vote. To compensate for this problem, public decisions might better be made by cost-benefit analysis. This method attempts to measure the intensity of feelings of all sides on an issue and then choose the option that will maximize the net benefit. In addition to being more efficient, this practice eliminates the intransitivity problem described above. Except for simplicity, cost-benefit analysis is clearly the most efficient decision rule.

If voting results in winners and losers, there is one way, at least on local issues, that can make everyone winners. Charles Tiebout suggests that people can vote with their feet and join local communities that have preferences similar to their own. This makes everyone a winner.

The beneficiaries from public goods will have much to gain if a government project is undertaken, so they will spend money to lobby for the project's approval. In fact, it is to their benefit, if they are risk neutral, to lobby to the point where their costs are just under the expected benefit if it takes that to sway the policy makers. This rent-seeking activity uses up the anticipated gains and therefore impairs efficiency. In cases where firms are competing for a public good monopoly, the accumulated rent-seeking behavior could more than dissipate the total gains sought.

One very difficult concern of government is the public good nature of income distribution. When a destitute person is helped, the whole society benefits. However, because free riding is so easy, society must develop redistribution rules that are fair. John Rawls argues that the just distribution system is one that people would choose if they were placed in society at some randomly chosen income level. He argues that people would prefer a more equal system than marginal productivity theory provides because they fear that they might be born into the lowest income group. There is also the practical consideration that a society with fewer income extremes will have a greater sense of solidarity and tolerance, which is important for the welfare of those at all levels of income.

Redistribution and efficiency need not be in competition. Charging the marginal cost for a product does not inherently restrict the capacity to transfer income if such transfers are desirable. Unfortunately, our society has structured income transfers in ways that cause recipients to substitute away from work. The negative income tax proposal is an effort to minimize that problem and save on bureaucratic expense. This proposal still needs to be shown to have practical as well as theoretical appeal. Government job creation is another method of helping low-income people receive more income. It is hard to create meaningful jobs without undercutting the private sector, but some combination of a negative income tax and a public job program appears attractive if it is structured so that people could move from an income transfer to a public job and eventually to a private-sector job.

Chapter Outline

1. Public goods are unique because of the properties of non-diminishability and non-excludability that make private provision of these goods difficult.

2. Optimal allocation will occur where the vertically summed demand for a public good intersects the good's marginal cost curve.

a. The willingness to pay by the citizens must cover both fixed and marginal costs of the project.

b. Ideally, each citizen should be taxed equal to his willingness to pay for the amount of public good being provided.

3. Many private organizations function as group providers of public goods and services.

a. Voluntary contributions supply public goods if people with means are committed to the cause or if they get substantial personal benefit.

b. Sometimes by-products, like a captive audience for a TV show, can be sold as TV time is sold to advertisers.

4. Where unique means of exclusion can be developed, it is possible for tenant associations, clubs, and co-ops to form mutual sharing systems, if they are willing to sacrifice privacy and convenience for lower cost.

5. When collective provision is necessary, the method of decision making often is not efficient.

a. Majority voting situations where preferences are not transitive will lead to differing outcomes depending on the way the voting agenda is structured.

b. The median voter always will be on the winning side if voters choose the option closest to their preferred outcome.

6. Cost-benefit analysis is more efficient than voting because it takes account of the intensity voters feel, and it would be preferred to voting, except for the complicated and costly effort often required.

7. Since localities offer differing selections of local public goods, people can locate where the optimal balance of public goods and taxes exists, as Charles Tiebout has pointed out.

8. Since gains from public choices are substantial, there is wasteful competition, called rent seeking, for these benefits.

9. Income distributed by markets rewards the most productive, but that is not necessarily considered fair.

a. Rawls argues for an unbiased veil of ignorance that will lead to a better relative income standing for the poorest of the poor.

b. The desire of the rich for more public goods leads to the rich paying more taxes than the poor, while the poor become better off as public goods' free riders.

c. Cash subsidies to the poor, rather than altered relative market prices, will improve efficiency and income distribution, as long as the cash grant system does not discourage the movement out of poverty.

Important Terms

	public goods
	median voter theorem

	non-diminishability
	single-peaked preferences

	non-excludability
	voter intensity

	pure public goods
	Tiebout model

	collective goods
	rent seeking

	vertical summation
	marginal productivity theory

	willingness-to-pay curve
	Rawlsian justice in income distribution

	by-product
	veil of ignorance

	shared ownership
	marginal benefit reduction rate

	majority voting
	negative income tax

	intransitive choices
	JOBS

	agenda manipulation
	


A Case to Consider

Now that Megan has some influence on the city council of her city, she is about to tackle another issue that has been a problem for her business. The streetlights on her street are inadequate and need to be updated. She has found that each light costs $20, and she guesses that each neighbor that will benefit from the lights has a willingness-to-pay curve of P = 20 - Q. Her own demand curve is P = 40 - 2Q. She has 2 neighbors.

1. Sketch a graph of this situation showing the community willingness to pay for lights and the individual willingness-to-pay curves as well. Sketch in the MC curve.

2. Calculate the optimal number of lights that should be installed on the street.

3. What is the total tax bill for the project? ________ How should the tax bill be divided up among the citizens to ensure that they will support the optimal number of lights? 

Megan ____________

Neighbor 1 _________

Neighbor 2 _________

4. If the tax bill were shared evenly by the citizens, how many lights would each one want to have installed? (Round down to the next whole number.)

Megan __________

Neighbor 1 _______

Neighbor 2 _______

5. If the neighbors, hoping to be free riders, refuse to vote for any lights, how many might Megan be willing to put up at her own expense?

6. What is the effect of free riding on the output of street lights?

7. If the neighbors pay $5 per light as their share of the tax bill and the optimal number of lights is installed, how much consumer surplus will they each have? (Round down to the nearest whole number.) ________  If they wait for Megan to install lights on her own and she installs lights to the point where her private benefit is equal to her private cost, how much consumer surplus will the free riding neighbors receive? ________ This illustrates that the neighbors gain approximately $38 of value by holding out against public lights.

8. If she knew her efforts would succeed, how much would Megan be willing to spend to lobby for an optimal government-installed lighting program where the tax charges per light for each person were based on the marginal benefit received from the last light? (This is a more complicated question, which is answered by comparing the consumer surplus Megan gets from installing lights herself with the consumer surplus she would get if the city installed the lights and taxed her according to her marginal value of the last light.)

Multiple-Choice Questions

1. A collective good as distinguished from a pure public good is one that 

a. has non-diminishability but not non-excludability. 

b. has non-excludability but not non-diminishability 

c. has neither non-diminishability nor non-excludability. 

d. has both non-diminishability and non-excludability.

2. If two people have a willingness-to-pay curve that is P = 10 - .5Q for a public good, then the optimal amount of the good, if the marginal cost of providing it is constant at 10, will be 

a. 0. 

b. 20. 

c. 10.

d. none of the above.

3. How much should each person in question 2 above be taxed for each unit of the public good provided if the benefits tax principle is followed?

a. 50

b. 10

c. 0
d. 5

e. None of the above

4. My historical club is willing to pay $1 million to see the history of Iceland on prime-time TV. The rest of the population is willing to collectively pay $900,000 to see 60 Minutes. General Motors is willing to pay $1,100,000 to advertise on 60 Minutes and nothing to advertise on the Iceland show. Which of the following is true?

a. The 60 Minutes TV program must be worth $1,100,000 to the public even though it is willing to pay only $900,000.

b. Society will be better off overall if the Iceland show is shown.

c. The value of the captive audience must be worth at least $1,100,000 to General Motors.

d. A pay-per-view TV system with no advertisements would have played 60 Minutes also.

5. It is most likely that public goods provided by private charity

a. are provided in too great a quantity for efficiency.

b. are provided in optimal quantity.

c. are provided in less than optimal amounts.

d. would be provided at optimal levels by the government if the private charities did not provide the good.

6. Private groups will have incentive to establish clubs, co-ops, or private contracts for joint-ownership arrangements if

a. it is impossible to exclude anyone from the good or service.

b. the marginal cost of the good is very low and excludability would be possible.

c. the marginal cost of the good is very high.

d. people value privacy and flexibility very high and are not at all concerned about added cost of individual ownership.

7.   President Obama is pushing for health care reform with government involvement. If health care is a public good it is because



a.   one person’s health can have an effect on other people who are around them.



b.   the marginal cost of health care is zero. 



c.   non diminishability is a characteristic of health care in America.



d.   all of the above are true. 

e.   of none of the reasons above. Health care cannot be considered a public good but might be justified as a government provision on other grounds.

8. If people have transitive preference orderings in a majority voting scheme between paired alternatives,

a. intransitive outcomes might happen.

b. the order in which the pairs are voted on is important to the outcome.

c. any of the alternatives could be a winner depending on how the voting agenda is structured.

d. all the above are true statements.

9. If a voter wants to fund tornado repair in a town but has the attitude that we should make things better than before or not rebuild at all, then that voter

a. exhibits a single-peak in her preference pattern.

b. will be the median voter.

c. is ignoring cost-benefit analysis.

d. will vote in ways that can lead to intransitivities in the voting outcome.

10. Cost-benefit analysis is superior to majority voting as a decision tool for public policy because it

a. requires that people have single-peaked preference patterns.

b. solves the median voter problem but not the agenda manipulation concerns.

c. does not require that policy makers know the preferences of the citizens.

d. measures the intensity of the citizens' feelings on an issue.

11. In a cost-benefit decision process

a. intransitive outcomes can often occur.

b. all people have an equal influence on the outcome.

c. those with strong feelings on the topic influence the outcome more than those who are almost indifferent to the topic.

d. efficiency is less likely to occur than in a majority voting process.

12. Which of the following, according to your text, is a compelling argument against the use of the cost-benefit framework?

a. It underestimates the preferences of the poor, who cannot back up their wishes with effective demand.

b. Because gainers and losers exist for any decision made, even cost-benefit analysis cannot be Pareto optimal.

c. Cost-benefit analysis is not as simple as majority voting.

d. All the above are compelling arguments against cost-benefit analysis.

13. The Tiebout model of local public goods assumes that

a. a given community can provide the optimal combination of public goods for a typical cross section of the country's population.

b. people are not inclined to move to find their optimal combination of public goods.

c. communities differ significantly in the combination of public goods provided.

d. citizens are concerned about federally provided public goods but not locally provided public goods.

14. Rent seeking is likely to occur when

a. the gains from a public project benefit only a few and the costs are widely spread.

b. the gains from a public project are widely spread and the costs are borne by a few.

c. the gains and losses of a public project are widely spread.

d. all the above are true.

15. Rent seeking, where many seek rent openly,

a. is wasteful and often does not benefit anyone doing the rent seeking.

b. provides significant benefits to those who succeed in winning a rigorous bidding process.

c. hurts those from whom the favor is being sought.

d. is illegal in the US.

16. Marginal productivity theory

a. asserts that each input into production will get the value of its marginal product in competitive markets.

b. claims that the value of the marginal product of all inputs is equal to the total product generated.

c. provides incentive to produce and take risks.

d. does not insure against wide variation in income distribution.

e. is described in part by all the above.

17. The "veil of ignorance" described by John Rawls leads to qualifications of marginal productivity theory. The main policy conclusion of Rawlsian thinking is that

a. a society should socialize its citizens in ways that will teach them to work for non-material rewards.

b. public goods should be provided in greater quantity to all citizens.

c. additional inequality will only be justified if it has the effect of raising everyone’s income.

d. there should be an upper limit on income beyond which a 100% tax rate would apply.

18. Income redistribution can be justified on practical grounds because

a. poor people have a higher effective demand for public goods than do rich people.

b. the rich are made better off if the poor remain as part of society since relative income standing is important. Therefore, they should be willing to compensate the poor in order to maintain social cohesion.

c. the rich spend on more socially undesirable goods than do the poor.

d. of all of the above.

19. If natural gas is essential to keep people from freezing in the winter, but some are too poor to purchase adequate supplies, then according to your text (see the phone directory case) the most desirable public policy would be to

a. provide the gas free of charge with general taxes covering the cost.

b. stay out of the gas market except to require the gas to be sold at cost.

c. have the gas sold at cost and provide a subsidy to the low-income users that will provide at least the same amount of pleasure that they would have had if the gas had been free.

d. charge a price for the gas that is somewhere between cost and free.

20.  Most negative income tax (NIT) plans like the one in your textbook 


a.   require the rich to pay the same marginal tax rate as the poor.


b.   require the rich to pay a higher percentage of their income in taxes. 


c.   provide cash grants to those with very low or no income. 


d.   have all of the above provisions included. 

21. In general it is true that

a. the marginal benefit reduction rate for the poor is higher than the marginal tax rate on the rich.

b. the marginal benefit reduction rate is less than 10%.

c. the marginal benefit reduction rate is higher with an N1T policy than the existing policies.

d. good redistribution policies have 0 marginal benefit reduction rates.

22. Your text suggests that the most productive combination of income sup​port is

a. an NIT plan with no other policy.

b. a public jobs plan with no other policy.

c. an N1T plan with a public jobs provision.

d. an N1T plan with a private jobs plan.

Problems

Questions 1 through 13 are related and build on each other as specified.

1. In what sense is a bridge over a river a public good?

2. On the figure below are Del, Mel, and Kel's willingness-to-pay curves for a bridge in town. From the information given, sketch in a total vertically summed willingness-to-pay curve. (Del wants the narrowest bridge and Kel, the widest.)

              
  $  48  




      24



                   
               Kel



     
      12 
       Mel
        

                                  4    Del               

                                                  12             24                              48    Quantity in Feet

3. Next sketch in a MC function  illustrating that the cost-per-foot of bridge width is equal to $12.

4. How wide would the optimal size bridge be?

5. If each person is taxed one-third of the cost of the bridge, how wide would each person prefer the bridge to be? (Assume this $4-per-foot per- person charge is in effect for the rest of this bridge problem.) 

Del wants a foot-wide bridge. ______

Mel wants a foot-wide bridge. ______

Kel wants a foot-wide bridge. ______

Draw the per-person marginal cost curve on the graph above.

6. If a vote were taken where the choices were either a 12-foot or 24-foot-wide bridge, what would the outcome be? (Assume that each person votes for the width closest to his ideal.)

7. If, as in question 6 above, the vote were now between a 20-foot bridge or no bridge at all, what would the outcome be? ______

Experiment by voting for any two bridge widths you can suggest and ob​serve what is true about Mel's vote that is not true about either of the other two votes. What voting principle do these outcomes illustrate?

8. If a 16-foot bridge existed and a vote were taken on whether or not to add another foot to the bridge width, the outcome would be ______yes votes and ______no votes.

9. If cost-benefit analysis were used to make the decision, the optimal choice would be to build the 17-foot bridge. Explain why this is true. (Assume that Del's willingness-to-pay curve extends in a linear fashion below the horizontal axis.)

10. How might this outcome occur in a voting context?

11. Why is voting used so often even though it leads to inefficient decisions, as was the case in the 17-foot bridge vote?

12. After the 17-foot bridge was built, vacationers discovered that it was a wonderful place from which to fish. The enterprising city planners began to charge a fee for fishing on the bridge and the $4 tax charge to pay for and maintain the bridge was dropped. It soon became clear to Del, Mel, and Kel that charging for fishing could provide a free bridge of any size since the larger the bridge, the more fishing rights could be sold. Before long there was sentiment to increase the bridge size, and a majority voting process was undertaken on all possible bridge widths. The vote ended up with the community adding ______feet to their bridge. This fishing opportunity is similar to what example in your text?

13. Is the ranking of the bridge width single-peaked or not? Explain.

14. A local government agency is considering a zoning law that will prohibit a church from buying additional residential housing to convert to parking lots. The reason it is considering the law is because neighbors in the area have complained that their property values will be devalued by a total of $100,000. The church's alternative is to build an elevated garage that will cost $100,000 more than the parking lot option. Both sides believe they have an even chance of winning if they lobby hard. 

a. Up to what amount will each side be willing to spend to sway the city council to its point of view? ______  

b. What will be the net gain from society's point of view after the city council finally makes its decision? ______

c. This is an example of what the text refers to as ___________________.

15.  You firmly believe that GM and Chrysler should receive government assistance to keep them from failing and you favor a high amount to be sure the firms would not fail. You would vote for a medium amount over nothing. The two other members on your committee have different views.  One wants to give a medium amount but as a second choice would vote for none. A high amount he opposes. The third member of the committee is opposed to all aid but if it is done it should be done right with a high level of support. A medium bailout is her last choice. You are the chairperson and can structure the voting process. How would you set up voting if you had to vote on two at a time toward a final outcome?

16. Is the use of the handicapped parking space system an example of cost-benefit efficiency or an illustration of Rawlsian fairness? Explain.

17. Which of the following programs would you prefer if you needed to depend on public assistance because your best job paid only $7000 per year? (Assume in questions 16 and 17 that your earnings in plan b are below the normal taxable income level.) Explain.

a. a negative income tax with a tax credit of $5000 dollars and a constant tax rate of 30%

b. a public assistance program that offered $7000 and reduced that amount by 50 cents for each dollar you earned

18. If you had prospects of job advancement that would lead to $11,000 in earnings, would your preference of plan a or b in question 16 change?Answers to 
Answers to Questions for Chapter 17 

Case Questions 

1. See the sketch labeled Case 17-1.
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2. 15 

3. Of the total $300, Megan pays $150 and the neighbors pay $75 each. 

4. Megan wants 16 and neighbors 13 each. 

5. 10 

6. Fewer lights than optimal are installed. 

7. 112, 150 

8. The surplus from 15 public lights would be 225 for Megan, compared with only 100 if she installs 10 herself. Therefore, she will be willing to pay up to 125 to lobby the city. 

Multiple‑ Choice Questions 
1. a, If one can exclude others from the benefit clubs and coops can work well.

2. c, Vertically sum the two demands and set the total demand equal to 10.

3. d, Each should pay half since they have the same demand for the good.

4. c, The TV show has viewing value and the ability to provide a captive audience, which has value to GM. Thus it is efficient to air 60 Minutes.

5. c, Everyone wants to be a free rider and therefore underestimates their true demand.

6. b, Clubs can exclude those who don't pay the entry fee and, if the MC is low, no one will feel taken advantage of if some members use the club more than others.

7. a, Basic health care with inoculations for infectious diseases can qualify as a public good. 

8. d, Refer to the public choice section of this chapter in your text.

9. d, He prefers super repair to average repair, but no repair to average repair. He also prefers super repair to no repair. He will always vote against average repair because of this intransitive preference pattern.

10. d, One vote per person cannot sort out how strongly people hold views. Imagine how goods would be allocated if demand was purely a yes-no process rather than a bidding operation which can bring out intensity of desire.

11. c, Cost = Benefit analysis is like developing a demand curve for a public good.

12. c, People will be inclined to misrepresent their true feelings if to do so will give then some free utility.

13. c, People choose to live where their preferences are reflected in the public choice process.

14. a, The gainers will lobby hard and the payers find it not worth the time to protest.

15. a, By the time the lobbying is done, the potential rent gains are dissipated.

16. e, Marginal productivity theory is what was studied in Chapter 14.

17. c, The "veil of ignorance" is present when one will be born into the world but does not know where. The changes she would make in distribution patterns before coming should help us sort out what is just now, wherever we happen to be. 

18. b, Since there are negative externalities from poverty, those with money should welcome programs to alleviate poverty.

19. c, Remember from Chapter 4 that economists usually want income subsidies for low-income people rather than changes in the relative prices of  goods. 

20. d, Because of the negative income feature the marginal tax rates can be constant while the average rate keeps rising. The negative feature gives the poor a cash grant based on income.

21. a, Yet we blame the poor for not working and we complain that the rich have no incentive to invest further because of the taxes they face. 

22. d, Public jobs or just a negative income tax is not thought to be a solution for poverty.

Problems 

1. Non-diminishability and non-exclusion generally apply although toll booths can exclude. 

2. See the sketch labeled Problem 17-1 below for this answer.

3. Also see sketch below.
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4. 24 feet 

5. 8 feet, 16 feet, 40 feet 

6. Mel and Del for 12 feet, Kel for 24 feet 

7. Kel and Mel for 20 feet, Del for none. This illustrates the median voter principle. 

8. 1 yes and 2 no votes 

9. At 18 feet the accumulated marginal costs equal the marginal benefits. 

10. If Kel bought Mel's vote for at least 1, he could control the vote. 

11. Voting is the most simple method of making a public decision. 

12. Marginal benefit equals marginal cost at 7 feet if MC is zero., TV advertising 

13. single‑peaked as the constant slope on the demand curve shows. 

14. 50,000; 100,000 lost in lobbying costs so zero net gain; rent seeking
15. First have a vote on the medium level vs. no bailout. The medium level wins. Next vote between a medium or high bailout and the high wins, which is what you wanted. If you had started with high vs. medium, high would win but it would then lose to no aid.  

16. Since many handicapped parking spaces are empty when other spaces are full, efficiency is not served. However, the public accepts that inefficiency rather than run the risk of having a handicapped person have no parking space that is convenient. This is Rawlsian fairness rather than efficiency.

17. The following graph shows that plan b is preferred at $7000 income.

18. Plan (a) is shown to be preferred at $11000 income. As shown in the graph and the algebra below, the point where the two plans are equal in their effect is at $10,000. Beyond that figure plan (a) is preferred. 
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Homework assignment
name: ____________________________

1. A small town has three people who are seeking relief from mosquitoes. They are considering a public spraying project. The following three equations represent the individual demand functions of Toby, Willie, and Michele.




Toby:

P = 10 - 2Q




Willie:

P = 15 - 3Q



Michele:
P = 20 - 4Q

a. What is the market demand equation for this service?

b. Why is this service usually provided by the government?

c. If the marginal cost of providing the service is $9 per unit of spraying, what is the socially optimal output of spraying?

d. Graph below the answer to question c.
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   Quantity of Spraying

e. If the marginal cost is divided equally among the citizens and a democratic voting process is used to determine the spraying amount, what can be said of Willie’s satisfaction level compared with the satisfaction of the other two citizens?  What principle is illustrated by your answer?

2. Private clubs sometimes can solve misallocation problems that government provision attempts to solve. List three specific goods or services that markets can not effectively allocate but that clubs can allocate well. What is the difference between a club good and a pure public good?  What is necessary for a club to be successful?

3.   Explain the logic of government’s involvement in disaster cleanup like in the case of hurricane Katrina in New Orleans. 

4. Consider the following tax proposals. 

· A negative income tax credit of $10,000 with a 40% tax rate on all income.  (Plan A.)

· A tax with no negative feature and a constant 20% tax rate. (Plan B)

a. If your best job provided $25,000 per year, which of the two plans would you propose?

b. At what income level, if it were not to change, would you be indifferent between the taxes?

c. If median family income was $25,000 and you wanted the majority to approve of plan B, how might you adjust the tax credit to achieve this goal?

d. From a microeconomic behavioral perspective, evaluate each proposal and pick one of the two as your preferred choice. 

e. Explain why the tax you did not choose as preferred is sometimes used by society.

